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1)log 16 log 1
3)log 1 3)log 64
405" 48"
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)log 16 =4 1)log 1 =0
2)log 27 =-3 2)log 81 =2

3)log3@1 =0 3)log 64=-3
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=0 5)12210g123 =0
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S) log  3+log 72 log; 36—10g; 12
6) log 28 —log 7 10g144 3+ 10g144 4

2 2
logg 36
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log 7 log - 3
8 3 3 5

9) 1og5(3£-5‘2) logz(% - 23)



lpoyumaume cnedyrouwjue
3anucu:

loglo ], loglo 3, loglo 120
lg5,1g8,1g120
log 15, loge 100, loge 2

e~ 2, 718281828...
In15,In100,In 2






Tema: /lecamuunvie u namypaivHble
Jlozapudmol.




) log b
HaHo. a a- __ b

b>0,a>0,c>0,ax1l.c#1

Bbipazumsb |og  buepeslog b, logc a

log , b
log a = log b

loga b - logc a=1log b
log . b

08, b= log a
C
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nepexooa:
log b

log b= log. b=1log blog a

log a

Mpumep log;6log,15log,s 25

log - 2log, 5log,,; 49



b>0,a>0,c>0,a#1,c#1
log b

log b=
log a

lg b
lga

log b=



!>O,a>0,c>0,a¢l,c¢l

log b

log b=
log a

Inb

Ina

log b=



lg!

log b = Ne324(1,3)

lga



Inb  Ne325(1,3)
Ina

log b=



b>0,a>0,c>0,a#l,c#1
log b

log b=
a log  a

log b= :
Mpumep * log a




ZloMmauwiHee 3a0aHuUe:

*[1.15,16, Ne324(4yém.),Ne325(4ém.),
Ne326(4yém.),Ne327(4ém.)

Ne337(2),
341
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